24" C515 FLG X FLG | 24" C515 MJ X FLG
'*20.004‘ - 38.00 - ' '720.004‘ - 38.00 -
- g ‘L | E— i S 1] E— E—
M&H @SQOOOX _ | M&H _
_:1 KENNEDY| f:h O L O | _ j:j KENNEDY| - ji= O
Il - L) O O 25.00 25000 e ==[ O —$32.00
Cs15 ° - | B C%ﬂs @ 3] 50\ §
USA © > | USA O
AG @ AG : (D O wl ] % ! o[ IZ) O
' A : H - = 1 ; -‘_“-E“_'
20 © 2 ' WL_ZEO_ T o %
| O
] il o 729.508C. o\ g . J— s | \ 10X & 88 HOLES —=— |
. ) 6 X .88 SLOTS 20 X & 1.38 HOLES
—1.19 FLG END: 1.23—- - | ~1.19 -
ANSIB16.1 ' 1100511005 L ON #3000 B.C. ON ©29.50 B.C.
~——2000—-  CLASS 125 YOI FLG END:
. ~—20.50— ANSI A21.11 ANS| B16.1
AWWA CI111 CLASS 125
24" C515 MJ X TAP
24" C515 MJ X MJ | 20.00
i= 38.00 -
| L 1 =
- - I
- 1] C ] \
, M&H ‘ N ‘ D 31 S0—_
, , = — D 24.94
51: KENNEDY, EEE | V
Wl - 25.00 | an;
— CgIIS —
UZA 16.00
M’ J%; ul} | | | 85 " 10 X .88 20 X #1.38
20 ‘ . | s rasEp 8 X @88 SLOTS ON ©29.50 B.C.
“ 10 X # .88 HOLES 19,75 | MJ END: STaTe]
i ="M} 6 X .88 SLOTS — \ 10.50(MJ)+- - e ANSI AZ].11 CLASS 125
ON @ 30.00 B.C. ) . AWWA C111
- -—10.00(TAP)
.23 MJ END: |
—21.00— ANSI A21.11 20.50 souonss NG TGRTION, o vien M
AWWA C111 | ¢ ” N 0a/14/21 ’
s WO/OS/ P P T ; D/




20

21

BEVEL GEAR WITH OP NUT

-—10.40—-

T

(T 11

i

&

45.19

25.00

51.32

S57.73

59.76

SPUR GEAR WITH OP NUT

- 15.00 -

—12.01—

62.86

S57.79

J;
oL

L

- Z Z 1
Q\K} rdl N T )w
's il ! |
] L1 1
R e T e e (L™ ™ 7
(T 11 (T 1

51.32

45.19

fi

L)

25.00

P/ A AN
3 N | | 4 "

O

ql

O

O

O
0 4
K
O
O

O

O
I O
O
O
D
O
O
L/
O

THIRD ANGLE PROJECTION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED.

PROPERTY OF MCWANE CORPORATION.

OTHERWISE ARRANGED.

ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
MCWANE CORPORATION AND [TS SUBSIDIARIES.

DESTRUCTION REQUIRED UPON COMPLETION OF DIRECTED USE UNLESS
ALL RIGHTS RESERVED.

|R TCHPTND.
[SK REFERENCE

FINTSHED PT N

[CURRENT REVISION

A-05/14/21

[DESCRIPTION

24" C515 NRS GEARED RESILIENT
WEDGE GATE VALVE

M&H VALVE COMPANY

CASTING TOLERANCES MACHINED DIMENSIONS
0-d: +1/32" MATERIAL
e +3/64" DECIMALS: +0.005
., FRACTIONS: +1/64
812" £1/16 ANGLE: D ESTIMATED WEIGHT
12-18" +3/32" SURFACE FINISH: 125 pin LBS .
18-UP": +1/8" RADII: 178"
NE\EII:JRAD\US' 1;; DRW BY: DATE DRAWN: _JCHK. BY CHK DATE:
MIN DRAFT: 20 DWI 09/08/20

SHEET SCALE

1:5

SOFTWARE USED

Solidworks 2018 SP2

2 SHEET SIZE

SHEET OF | )




E G H J K M N O P R S T U \Y%

] 1
| a A o |
’ 3

] . .
L J
4 ° .
S | - -
I ]
s R‘d\ i 6 5 . 9 2 A ] B i a| ]
=
[
— J %hﬂj — —
I i H——H —
_ J } f {1} } { J J L——_J
am)| 57 73 T T
¢ 6
°
\ )
= = - = -
’ 5 7 ) 7 9 B - ] 2 . O ] 7
. !
— A | a
5 ] |
.32 W
¢ 8
? 9
= —1N [T= —
K = =7/ = 3 o
°
45,19
11 11
] A I _
v ik A ik
12 12
L \ \ 2 \ \
— L ] = | | — —
) ~ F 1 A - ,, 7 7
13
O O 25.00
14 5 O O
2 °
’ O
: D
Y Y i | Y | Y Y Y Y
: %
18
19
20
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION. |R T e T
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 ALL MODELS AND DERIVITIVE DOCUMENTATION ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. gé%ﬁé%%ﬁ%@%ﬁﬁégﬁégﬁ E%if?f‘g%'éﬁ'%ﬁ DIRECTED USE UNLESS [** REFERENCE [CURRENT REVBION
| CASTING TOLERANCES MACHINED DIMENSIONS OTHERWISE ARRANGED. AL RIGHTS RESERVED. A-05/14/21 —]
0-4": +1/32" _ i MATERIAL DESCRIPTION
s st | Ao ijed 24" C515 NRS GEARED RESILIENT
120 +1/16" NGLE: 10
2] 12-18" +3/32" %\RE‘/_*CE FINISH: l]?gmn FTIMATED WEIGHT LBS. WEDGE GATE VALVE 3 [ 2
:\/ﬁ:ﬁ::D\US' * :;S:: . [DRW BY: [DATE DRAWN: [CHK. BY (CHK DATE: SHEET SCALE . SOFTWA’TE USED SHEET OF D
MIN DRAFT; 2 DWI 09/08/20 1:5 Solidworks 2018 P2 | 7




20

21

BARE STEM

[T 1%

I Tl

45.19

25.00

51.32

STANDARD FAT6
MOUNTING

8 X .81 HOLES
ON ¢ 6.50B.C.

BARE STEM MOUNTING FLG

2
3
4
5
/—ﬁ
|
| — 6
| —
~ ]
7
/\ V . 5 O
7
@ 9
-
10
11
12
[ROUGH PTNO. FINISHED PT N
THIRD ANGLE PROJECTION. PROPERTY OF MCWANE CORPORATION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41 AAAL(\E‘;/AAC\)VEEEES(?RT’%E/E%‘gw\//\EI\I%OIT%Lé”L\JAEFS'\\‘[T)/IAAﬂRIOEg‘ ARE PROPRIETARY TO
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED. BESRUCTON QU VPO LCL%TAGPHLTEST‘?E';E%\F/EEI}RECTED UsE UnLess [ C:ZRENTE)E?/O; e
. Al . -
CASTING TOLERANCES MACHINED DIMENSIONS e
0-4": +1/32" IMATERIAL [DESCRIPTION
g . DECIMALS: £0.005 " M&H VALVE COMPANY
;?2;,_ f?ﬁg RACTONS: 2 1/6d | 24" C515 NRS GEARED RESILIENT
e - ANGLE: +1° M SHEET SIZE
12-18™: +3/32" SURFACE FINISH: 125 pin LBS- WEDGE GATE VALVE 4 21
18-UP™ +1/8" RADII: g
MSI::RAD‘US_ 1;2,, DRW BY: [DATE DRAWN: _[CHK. BY CHK DATE: SHEET SCALE ] 5 S EATE) SHEET OF | )
MIN DRAFT: 20 DWI 09/08/20 . Solidworks 2018 SP2 7




—

20

21

&)

24

7
2

DETAIL A
45" SECTION VIEW

q -13

),

Q)

30

N N ]

26 25

S
"V

A
”,

[ Abh
RS
*-
N
/
v
<X
)
(i
N/

DETAIL B

DETAIL C

THIRD ANGLE PROJECTION.
STANDARDS: ANSI/ASME Y14.100, Y14.5M, AND Y14.41
TOLERANCES AS FOLLOWS UNLESS OTHERWISE SPECIFIED.

RRRRRRRRRRRRR

A-05/14/21

24" C515 NRS GEARED RESILIENT

| WEDGE GATE VALVE

IZE 21

CASTING TOLERANCES MACHINED DIMENSIONS
0-4" £1/32"
48" +3/64" | DECIMALS :
CTIONS /6
8-12 £1/16 GLE: ESTIMATED WEIGHT
1218 +3/32° | SURFACEFINISH: 125 pin LBS
18-UP": +1/8" | RADI: /8 - - -
N RADILS ) w |l PR T |DAIE DRAWN T JCHK DATE:
MIN DRAFT: 2° DWI 09/08/2

EEEEEEEEEE

1:5

SSSSSSSSSSSS

Solidworks 2018 SP2




VALVES CONFORM WITH FOLLOWING STANDARDS
 AWWA C515
* NSF 61

LOW ZINC BRASS STEM AND STEM NUT AVAILABLE

100% DOMESTIC FASTENER AND O-RING OPTIONS
AVAILABLE

OPEN LEFT (COUNTERCLOCKWISE) AND OPEN
RIGHT (CLOCKWISE) OPTIONS AVAILABLE

TURNS TO OPEN FROM FULLY CLOSED: 228
e +/- 5% WITH STANDARD 3:1 BEVEL OR SPUR GEAR

AWWA MAXIMUM ALLOWABLE CLOSING TORQUE
250 FT-LBS WITH STANDARD GEARING

OPTIONAL HANDWHEEL CAN BE SUBSTITUTED FOR

STANDARD 2" SQUARE OP NUTS

e *NOTE: STANDARD HANDWHEEL SIZE CALLED
OUT IN PARTS LIST**

ITEM NO. COMPONENT QTY. SIZE STANDARD MATERIAL MATERIAL OPTIONS

] BODY ] - DUCTILE IRON -

2 TRACK 2 - 316 SS -

3 WEDGE ] - DUCTILE IRON/EPDM -

4 STEM NUT ] - C87850 C87610
5 COVER ] - DUCTILE IRON -

6 SCRAPER 2 - C95500 -

7 ROLLER 4 - C95400 -

8  |COILED SPRING PIN| 4 - 18-8 S5 -

9 STEM ] - C86200 C99500, 304 SS, 316 SS
10 THRUST WASHER | 2 - DELRIN -

17 O-RING 3 #329 EPDM BUNA-N
12 O-RING ] #474 EPDM BUNA-N
13 CAPSCREW 20 3/4-10X 1 1/2" 18-8 S5 316 SS
14 HEX NUT 20 3/4"-10 18-8 S5 316 SS
15 FLAT WASHER | 20 3/4" 18-8 S5 316 SS
16 ADAPTER PLATE | 1 - DUCTILE IRON -

17 | GEAR EXTENSION | | - DUCTILE IRON -

18 O-RING 1 #447 EPDM BUNA-N
19 O-RING 1 #433 EPDM BUNA-N
20 KEY 1 1/2"X 1/2" X 2" STEEL -
21 HEX NUT 8 7/8"-9 18-8 S5 316 SS
22 CAPSCREW 4 7/8-9 X 31/2" 18-8 S5 316 SS
23 CAPSCREW 4 7/8'-9 X 4" 18-8 S5 316 SS
24 CAPSCREW 4 | ALLEN HEAD 3/4-10X 1 1/2" 18-8 55 316 SS
25 CAPSCREW ] 5/16"-18 X 3/4" 18-8 S5 316 SS
26 FENDER WASHER | 1 5/16" FENDER 316 SS -
27 BEVEL GEAR ] - - SPUR GEAR
28 GASKET ] - EPDM -
29 |COILED SPRING PIN| 1 10MM X 45MM 302 S5 304 SS
30 PLUG 2 1 1/4" - NPT 304 SS 316 SS
3] OPERATING NUT | 1 i CAST IRON o AN EREL S e
32 PLUG ] 1/2" - NPT 304 SS 316 SS

+1/32" MA
B pToNs: + /64 24" C515 NRS GEARED RESILIENT

EEEEEEEEEEEEEEE

+1/8" RADII:

[CHK DATE: _ |SREETSCALE . —  |SOFTWARE UsED

Solidworks 2018 SP2 7

MIN RADIUS: w | P T JPATEDRAWN o Y 15
MIN DRAFT: 20 DWI 09/08/2 .

s | D s Sy L BS.| WEDGE GATE VALVE 6
ES 178" SHEET OF

EEEEEEEEEEE




	BODY DIM
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View71
	Drawing View73
	Drawing View74
	Drawing View75

	OP NUT GEARED ASSEMBLY
	Drawing View15
	Drawing View16

	HW GEARED ASSEMBLY
	Drawing View26
	Drawing View27

	BARE STEM ASSEMBLY
	Drawing View28
	Drawing View72

	BOM BALLOONED
	Drawing View32
	Drawing View33
	Section View -
	Section View -
	Detail View C (2 : 5)
	Detail View B (2 : 5)
	Drawing View68
	Section View J-J
	Detail View K (2 : 5)

	BOM MATL LIST



